xiE  BUR. LER

TR KEFLLICET S EERAE(RIER D FRIK)

B A

FAAAY

RRODERH

SR O BRI

]

fr & =

154E1007

]

Pt

2

EriR

Hh

B Jh th /KR X I EET 5 4R

IR 7 [ g iR B S £ K AR

CONE N A

_{//J-

\#(; | 3 A
B Hal) \x'a (/::\ i
S sl
e 407 250 500 m

.
e
CeR

= I“ -.‘

{i11& X (S=1:200,000)

BE 5% &(S=1:25,000)



S2EMMOBRERXREFAE
BEEETEE i 25 4E
SN TN

N7

BEDEINOHATH. ELLVEEDEZENDHETDBTER
154E1007 |

A3 —1 2 1!
2 1B & 0 B BmEs

(s

E

X
bt
q,
By

/

FL 1

B ‘i

A T

[ #FLVWEEOEThOHIIORE
BEOBFhOHDLHDRKI

[ tr%o##EE mEBZHE
TREDBEIZLDNA100kN/MEBZ2HHE

— 1R 4R




AIER b AR X EGEH =

B3 —2 BEMICERTILBESNOEEICE I HEE1/1) _ _ REEE Ik 25F &
StEftouE [ #SmES | 154E1007 [Ehigd \ R | FRTEHD | N KR X TS R
) SERMO TinICHEET S ZERH A
Eﬁg TREOBEBOSILHOKRES TERFDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESEILADKES
&S X 4 Bs | Fins oD EERE jJ(Dxéjé X 4 TIHMLDKE [ FHE jjo)jtafé R 4 B | tEmEASDLEE jmxa;g K 4 LighonltsE | & jjo)jt%'_’:é
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%BZ 5 - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - -~ -|3mEBZD -~ -
s 1.00 | 0.00 ~ 477 59.50 | =hLs | 000 ~ 000 1.74 877 st 1.00 | 6.00 ~ 5.00 59.50 | =hS | 5.00 ~ 6.00)| 1.74 877
2 100kN/mM%#BZ 5 -~ -|3mEBZD -~ -| 100kN/m#%#8% % -~ -|3mEBZD -~
s 1.00 | 0.00 ~ 5.75 71.91 | =S | 000 ~ 0.00| 1.60 8.08 st 1.00 | 6.00 ~ 6.80 71.91 | ThSY | 65,00 ~ 6.80| 1.60 8.08
3 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 4.99 6223 | Tnhs |ooo ~ 000|175 8.83 st 1.00 | 6.00 ~ 5.30 6223 | =St | 6.00 ~ 630)| 1.75 8.83
4 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 638 80.25 | =hs | 000 ~ o000 1.73 878 st 1.00 | 6.00 ~ 7.50 80.25 | =ns | .00 ~ 750\ 1.73 878
5 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 6.69 84.44 | =nRS | 000 ~ 0.00| 1.72 8.68 st 1.00 | 6.00 ~ 8.10 84.44 | =hs | 5,00 ~ 810| 1.72 8.68
P 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 6.75 85.35 | =hLs | 000 ~ 000 1.75 8.86 st 1.00 | 6.00 ~ 820 85.35 | #nS | 5.00 ~ 820\ 1.75 8.86
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 473 5894 | EnRS | 0.00 ~ 0.00| 1.65 8.36 st 1.00 | 6.00 ~ 5.00 58.94 | =nS | 5.00 ~ 65.00| 1.65 8.36
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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